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p = prr—
BOSH 2 FEEBE (g (0017161061215
WE=E 1,908 2,328 3, 408
RIBBRPIL 1, 296 1, 800 1, 680
HIREE 11,124 10,128 9, 084
BESFE 14,196 18,192 25,728
Fil=E 8, 448 8, 604 8, 544
BE= 4, 488 5, 064 6, 324
B 22,080 25, 068 23, 688
EBRMR 6, 252 2, 364 2,064
ASE 20, 856 21,600 24, 396
EEE 1,692 1,872 2,088
EES 1,272 1,944 1,704
EEARRHEE 5, 472 7,080 8,292
BB 1,980 2,580 2, 556
FHREEPIL 2,748 2,076 2,016
SFEEHMPIL 696 996 1,512
R2HEPIL 588 384 468
RAHSHE P 2,484 2,580 2,076
R B ERE 7,176 9,108 9, 840
EEIEE PRI 84 2,196 5, 424
BEXH20 828 876 1,284
HRHTEPIL 1, 740 816 744
BIFTE I 516 408 312
XLEISERETEZR PN 1, 380 672 576
HESR 14,748 18, 324 20, 088
X2k 9, 636 8, 388 8, 892
IR 4, 476 4, 836 4,212
B2k 7,044 8, 208 6, 432
212k 4,644 6,576 8,904
BEEEPIL 708 3, 840 3,528
a5t 160, 560 178, 908 195, 864




